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(4-Ri1106%)
9H30H(H) 0.044 0.040 0.056 0.068
9H29H(+) 0.041 0.040 0.043 0.072
9H28H (&) 0.040 0.038 0.041 0.067
9H27H(XK) 0.039 0.039 0.040 0.065
9A26H (JK) 0.040 0.039 0.041 0.067
9H25H (X) 0.040 0.038 0.041 0.067
9A24H(AH) 0.040 0.038 0.042 0.067
9H23H(H) 0.043 0.039 0.051 0.083
9H22H (1) 0.040 0.039 0.042 0.068
9A21H (%) 0.040 0.039 0.042 0.067
9A20H (K) 0.039 0.039 0.040 0.067
9A19H (JK) 0.039 0.039 0.040 0.065
9A18H (N) 0.039 0.038 0.039 0.065
9H17HA) 0.039 0.038 0.040 0.065
9H16H(H) 0.039 0.038 0.041 0.065
9A15H(+) 0.039 0.038 0.040 0.065
9148 (&) 0.040 0.039 0.043 0.068
9H13H(X) 0.040 0.039 0.041 0.067
98128 (JkK) 0.039 0.039 0.040 0.065
9R11H(X) 0.042 0.039 0.053 0.067
9HA10H(A) 0.040 0.039 0.041 0.065
9H 9H(H) 0.040 0.039 0.041 0.065
9A 8H (%) 0.040 0.039 0.040 0.067
98 7H(#®) 0.040 0.039 0.042 0.070
98 6H(X) 0.041 0.039 0.044 0.072
98 5H0UK) 0.041 0.039 0.043 0.050 (EAIE)
98 4B (X)) 0.040 0.039 0.041 0.067
9H 3H((A) 0.039 0.038 0.040 0.065
98 2H(H) 0.039 0.038 0.040 0.065
9 1H (%) 0.038 0.038 0.039 0.063
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